

## Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: Woodruff Avenue TSSP - Firestone Boulevard to Willow Street

Project ID: TSM0010258

Bids Opened: 8/26/2025 Project Manager: Bashar Tohmeh 714-412-0088

Addenda: 1 Duration: 295 Day(s)

Engineer's Estimate (1) Elecnor Belco Electric, Inc. (2) California Professional

Engineering, Inc.

(1) Pro	(1) Preliminary Bid Amount \$2,667,104.00 \$2,709,086.35												
• •	t Price Detail					`	φ2,007,104.00		Ψ2,709,000.00				
ltem	Description	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00				
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	17	\$500.00	MTH	\$8,500.00	\$500.00	\$8,500.00	\$500.00	\$8,500.00				
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00				
4	CITY PERMIT AND INSPECTION FEES (ALLOWANCE OF \$10,000)	10000	\$1.00	AL	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00				
5	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00				
6	IMPLEMENTATION OF BMPS	1	\$12,500.00	LS	\$12,500.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00				_
7	MOBILIZATION	1	\$145,000.00	LS	\$145,000.00	\$120,000.00	\$120,000.00	\$157,250.00	\$157,250.00				
8	EXPLORATORY EXCAVATION OF UTILITIES (ALLOWANCE OF \$9,000)	9000	\$1.00	AL	\$9,000.00	\$1.00	\$9,000.00	\$1.00	\$9,000.00				
9	SALVAGE EQUIPMENT	1	\$12,500.00	LS	\$12,500.00	\$16,000.00	\$16,000.00	\$2,000.00	\$2,000.00				_
10	CONCRETE REMOVAL (NON- REINFORCED)	20	\$750.00	CY	\$15,000.00	\$968.00	\$19,360.00	\$977.00	\$19,540.00				
11	UNCLASSIFIED EXCAVATION	19	\$500.00	CY	\$9,500.00	\$740.00	\$14,060.00	\$747.00	\$14,193.00				
12	CRUSHED MISCELLANEOUS BASE	16	\$688.00	CY	\$11,008.00	\$740.00	\$11,840.00	\$747.00	\$11,952.00				

Project ID: TSM0010258

Bids Opened: 8/26/2025

Bids Opened: 8/26/2025 Project Manager: Bashar Tohmeh 714-412-0088

Engineer's Estimate	(1) Elecnor Belco Electric, Inc.	(2) California Professional
_		Engineering, Inc.

(1) Preliminary Bid Amount \$2,667,104.00 \$2,709,086.35													
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>						
13	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	8	\$844.00	CY	\$6,752.00	\$2,504.00	\$20,032.00	\$2,500.00	\$20,000.00				
14	AC PAVEMENT	8	\$1,625.00	TON	\$13,000.00	\$2,504.00	\$20,032.00	\$2,500.00	\$20,000.00				
15	PCC PAVEMENT	6	\$1,250.00	CY	\$7,500.00	\$1,992.00	\$11,952.00	\$2,000.00	\$12,000.00				_
16	PCC CURB, TYPE A1-6	60	\$75.00	LF	\$4,500.00	\$97.00	\$5,820.00	\$98.00	\$5,880.00				
17	PCC CURB & GUTTER, TYPE A2-VAR	126	\$150.00	LF	\$18,900.00	\$120.00	\$15,120.00	\$120.00	\$15,120.00				
18	PCC WALK & DRIVEWAYS, 4" THICK	114	\$37.50	SF	\$4,275.00	\$52.00	\$5,928.00	\$51.00	\$5,814.00				
19	PCC CURB RAMPS	6	\$2,890.00	CY	\$17,340.00	\$3,300.00	\$19,800.00	\$3,330.00	\$19,980.00				
20	DETECTABLE WARNING SURFACE	320	\$180.00	SF	\$57,600.00	\$74.00	\$23,680.00	\$75.00	\$24,000.00				
21	2" CONDUIT (SCH 80 PVC)	1425	\$100.00	LF	\$142,500.00	\$45.00	\$64,125.00	\$80.00	\$114,000.00				_
22	3" CONDUIT (SCH 80 PVC)	515	\$110.00	LF	\$56,650.00	\$90.00	\$46,350.00	\$95.00	\$48,925.00				
23	2-PAIR DETECTOR LEAD-IN CABLE	6195	\$4.00	LF	\$24,780.00	\$3.00	\$18,585.00	\$6.80	\$42,126.00				
24	INDUCTIVE LOOP DETECTOR AND LEADS SAW CUT	11305	\$13.75	LF	\$155,443.75	\$17.00	\$192,185.00	\$16.50	\$186,532.50				
25	4-CAMERA VIDEO DETECTION SYSTEM (COMPLETE)	3	\$50,000.00	EA	\$150,000.00	\$55,000.00	\$165,000.00	\$57,700.00	\$173,100.00				
26	REMOVE TYPE M CABINET	1	\$1,000.00	EA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00				
27	REMOVE TYPE M CABINET FOUNDATION	1	\$2,000.00	EA	\$2,000.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00				
28	REMOVE CONTROLLER	1	\$625.00	EA	\$625.00	\$250.00	\$250.00	\$250.00	\$250.00				
29	REMOVE TYPE 1 STANDARD (COMPLETE) (EXCL. FOUND.)	9	\$875.00	EA	\$7,875.00	\$800.00	\$7,200.00	\$700.00	\$6,300.00				
30	REMOVE TYPE 15 STANDARD (COMPLETE) (EXCL. FOUND.)	2	\$1,375.00	EA	\$2,750.00	\$1,400.00	\$2,800.00	\$800.00	\$1,600.00				
31	REMOVE TYPE 15 STANDARD (COMPLETE) (EXCL. FOUND.) NEAR OVERHEAD HIGH VOLTAGE	1	\$9,375.00	EA	\$9,375.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00				
32	REMOVE TYPE 17 STANDARD (COMPLETE) (EXCL. FOUND.)	4	\$1,500.00	EA	\$6,000.00	\$1,700.00	\$6,800.00	\$1,100.00	\$4,400.00				

Project ID: TSM0010258

Bids Opened: 8/26/2025

Bids Opened: 8/26/2025 Project Manager: Bashar Tohmeh 714-412-0088

Proje	ct Manager: Bashar Tohlhen 714-412-0	000									Duration:	295 Day(S)	
				Engine	eer's Estimate(	(1) Elecnor Belco	Electric, Inc.	Engineering, Inc.					
(1) Pr	eliminary Bid Amount					\$	2,667,104.00		\$2,709,086.35				
(2) Ur	nit Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>
33	REMOVE TYPE 19 STANDARD (COMPLETE) (EXCL. FOUND.)	1	\$1,500.00	EA	\$1,500.00	\$1,700.00	\$1,700.00	\$1,100.00	\$1,100.00				
34	REMOVE TYPE 24 STANDARD	2	\$1,875.00	EA	\$3,750.00	\$1,700.00	\$3,400.00	\$1,400.00	\$2,800.00				
	(COMPLETE) (EXCL. FOUND.)												
35	REMOVE TYPE 3 STANDARD (COMPLETE) (EXCL. FOUND.)	3	\$1,313.00	EA	\$3,939.00	\$1,500.00	\$4,500.00	\$1,000.00	\$3,000.00				
36	REMOVE TYPE 3 STANDARD (COMPLETE) (EXCL. FOUND.) NEAR OVERHEAD HIGH VOLTAGE	2	\$7,500.00	EA	\$15,000.00	\$2,500.00	\$5,000.00	\$8,200.00	\$16,400.00				
37	REMOVE LUMINAIRE	6	\$625.00	EA	\$3,750.00	\$200.00	\$1,200.00	\$50.00	\$300.00				
38	REMOVE VEHICLE HEAD (COMPLETE)	50	\$350.00	EA	\$17,500.00	\$200.00	\$10,000.00	\$200.00	\$10,000.00				
39	REMOVE PEDESTRIAN HEAD (COMPLETE)	41	\$250.00	EA	\$10,250.00	\$200.00	\$8,200.00	\$75.00	\$3,075.00				
40	REMOVE PEDESTRIAN PUSH BUTTON	25	\$157.00	EA	\$3,925.00	\$80.00	\$2,000.00	\$30.00	\$750.00				
41	REMOVE TYPE 1 FOUNDATION	9	\$1,250.00	EA	\$11,250.00	\$1,000.00	\$9,000.00	\$1,200.00	\$10,800.00				
42	REMOVE TYPE 15 FOUNDATION	4	\$1,625.00	EA	\$6,500.00	\$2,000.00	\$8,000.00	\$1,400.00	\$5,600.00				
43	REMOVE TYPE 17 FOUNDATION	4	\$1,875.00	EA	\$7,500.00	\$2,000.00	\$8,000.00	\$1,600.00	\$6,400.00				
44	REMOVE TYPE 19 FOUNDATION	1	\$1,875.00	EA	\$1,875.00	\$2,000.00	\$2,000.00	\$1,700.00	\$1,700.00				
45	REMOVE TYPE 24 FOUNDATION	2	\$3,125.00	EA	\$6,250.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00				
46	REMOVE TYPE 3 FOUNDATION	5	\$1,500.00	EA	\$7,500.00	\$2,000.00	\$10,000.00	\$1,200.00	\$6,000.00				
47	REMOVE PEDESTRIAN PUSHBUTTON POST FOUNDATION	1	\$600.00	EA	\$600.00	\$835.00	\$835.00	\$750.00	\$750.00				
48	REMOVE RADIO CORRECTED TIME BASE UNIT	3	\$525.00	EA	\$1,575.00	\$835.00	\$2,505.00	\$200.00	\$600.00				
49	REMOVE RCTB ANTENNA AND CABLE	2	\$525.00	EA	\$1,050.00	\$835.00	\$1,670.00	\$200.00	\$400.00				

Project ID: TSM0010258

Bids Opened: 8/26/2025

Bids Opened: 8/26/2025 Project Manager: Bashar Tohmeh 714-412-0088

COMPLETE  STREET NAME   STRE	Proje	ct Manager: Bashar Tohlhen /14-412-0	JU00									Duration:	295 Day(S)	
Comparison   Com					Engin	eer's Estimate(	(1) Elecnor Belco	Electric, Inc.	Èng	jineering, Inc.				
Description   Qity   Unit Price   Amount	. ,	· · · · · · · · · · · · · · · · · · ·					\$	2,667,104.00	\$	2,709,086.35				
Second   S	(2) Ur													
	<u>ltem</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>		<u>Unit Price</u>		<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
(COMPLETE) 52 RELOCATE 5-12* LED VEHICLE 2 \$700.00 EA \$1.400.00 \$800.00 \$1.200.00 \$1.4	50	REMOVE ILD SENSOR UNIT	22		EA		\$30.00	\$660.00	\$200.00					
HEAD (COMPLETE)  53 RELOCATE EURO 7 \$625.00 EA \$4,375.00 \$800.00 \$4,200.00 \$1,200.00 \$8,400.00  REFLECTIVE STREET NAME SIGN  54 RELOCATE LUMINAIRE 2 \$2,500.00 EA \$5,000.00 \$800.00 \$1,200.00 \$200.00 \$500.00  ASSEMBLY  55 RELOCATE 20 W EQ LED 3 \$500.00 EA \$1,500.00 \$300.00 \$900.00 \$200.00 \$4,000.00  LUMINARIE  56 TYPE 2070LX CONTROLLER 2 \$11,875.00 EA \$3,750.00 \$12,855.00 \$25,710.00 \$13,900.00 \$27,800.00  WITH D4 FIRMWARE  57 2010ECL CONFLICT MONITOR 2 \$1,800.00 EA \$3,600.00 \$2,559.00 \$5,110.00 \$2,900.00 \$5,800.00  S6 GPS UTB UNIT AND ANTENNA 1 2 \$20,220.0 EA \$4,234.00 \$4,600.00 \$4,750.00 \$7,000.00  57 SWITCH PACK 16 \$1070.00 EA \$1,710.00 \$53.00 \$60.00 \$1,100.00  S7,000.00 \$7,000.00  S7,000.00 \$7,000.00  S7,000.00  S7,	51		1		EA		·		·					
REFLECTIVE STREET NAME   SIGN	52		2				\$600.00							
ASSEMBLY  55 RELOCATE 200 W EQ LED 3 \$500.00 EA \$1,500.00 \$300.00 \$900.00 \$280.00 \$840.00    LUMINARIE	53	REFLECTIVE STREET NAME	7	\$625.00	EA	\$4,375.00	\$600.00	\$4,200.00	\$1,200.00	\$8,400.00				
LUMINARIE  56		ASSEMBLY	2				·							
WITH D4 FIRMWARE   String	55		3		EA			\$900.00						
58         GPS UTB UNIT AND ANTENNA         12         \$2,032.00         EA         \$24,384.00         \$4,687.00         \$56,244.00         \$4,750.00         \$57,000.00           59         SWITCH PACK         16         \$107.00         EA         \$1,712.00         \$53.00         \$848.00         \$80.00         \$12,000.00           60         PED ISOLATION MODULE         2         \$300.00         EA         \$600.00         \$116.00         \$232.00         \$140.00         \$280.00           61         2-CHANNEL ILD SENSOR UNIT         28         \$375.00         EA         \$10,500.00         \$200.00         \$5,600.00         \$233.00         \$6,524.00           62         CONTROLLER AND CABINET         1         \$4,000.00         EA         \$4,000.00         \$9,332.00         \$9,332.00         \$6,500.00         \$6,500.00           7         TYPE 332 CABINET         1         \$20,000.00         EA         \$20,000.00         \$30,750.00         \$31,750.00         \$31,750.00         \$31,750.00         \$3,800.00         \$3,800.00         \$3,800.00         \$3,800.00         \$4,500.00         \$4,500.00         \$3,800.00         \$4,500.00         \$4,500.00         \$4,500.00         \$4,500.00         \$4,500.00         \$4,500.00         \$4,500.00         \$3,500.00 <td>56</td> <td>WITH D4 FIRMWARE</td> <td>2</td> <td></td> <td>EA</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>	56	WITH D4 FIRMWARE	2		EA									
59         SWITCH PACK         16         \$107.00         EA         \$1,712.00         \$53.00         \$848.00         \$80.00         \$1,280.00           60         PED ISOLATION MODULE         2         \$300.00         EA         \$600.00         \$116.00         \$232.00         \$140.00         \$280.00           61         2-CHANNEL ILD SENSOR UNIT         28         \$375.00         EA         \$10,500.00         \$5,000.00         \$233.00         \$6,524.00           62         CONTROLLER AND CABINET         1         \$4,000.00         EA         \$4,000.00         \$9,332.00         \$9,332.00         \$6,500.00         \$6,500.00           63         TYPE 332 CABINET         1         \$20,000.00         EA         \$20,000.00         \$30,750.00         \$31,750.00         \$31,750.00         \$31,750.00         \$31,750.00         \$31,750.00         \$3,800.00         \$30,750.00         \$3,800.00         \$31,750.00         \$3,800.00	57	2010ECL CONFLICT MONITOR	2		EA			\$5,118.00		\$5,800.00				_
60 PED ISOLATION MODULE 2 \$300.00 EA \$600.00 \$116.00 \$232.00 \$140.00 \$280.00 \$6.524.00 \$61 2-CHANNEL ILD SENSOR UNIT 28 \$375.00 EA \$10,5500.00 \$200.00 \$5,6500.00 \$233.00 \$6,524.00 \$6.524														
61 2-CHANNEL ILD SENSOR UNIT 28 \$375.00 EA \$10,500.00 \$200.00 \$5,600.00 \$233.00 \$6,524.00 \$6,500	59	SWITCH PACK	16		EA			· ·						_
62 CONTROLLER AND CABINET 1 \$4,000.00 EA \$4,000.00 \$9,332.00 \$9,332.00 \$6,500.00 \$6,500.00 \$6,500.00 \$17551ING \$1 \$20,000.00 EA \$20,000.00 \$30,750.00 \$30,750.00 \$31,	60		2		EA									
TESTING  63 TYPE 332 CABINET 1 \$20,000.00 EA \$20,000.00 \$30,750.00 \$31,750.00	61		28	\$375.00										
64 TYPE 332 CABINET 1 \$3,750.00 EA \$3,750.00 \$3,232.00 \$3,800.00 \$3,800.00 \$3,800.00 \$5,800.00 \$	62		1	\$4,000.00	EA	\$4,000.00		\$9,332.00	\$6,500.00	\$6,500.00				
FOUNDATION  65 RELOCATE TYPE 15	63	TYPE 332 CABINET	1	\$20,000.00	EΑ	\$20,000.00	\$30,750.00	\$30,750.00	\$31,750.00	\$31,750.00				_
STANDARD (COMPLETE)           66         TEMPORARY SIGNAL POLE         10         \$4,000.00         EA         \$40,000.00         \$3,000.00         \$35,000.00	64		1	\$3,750.00	EA	\$3,750.00	\$3,232.00	\$3,232.00	\$3,800.00	\$3,800.00				
WITH MAST ARM         67         TEMPORARY SIGNAL POLE         1         \$3,000.00         EA         \$3,000.00         \$2,000.00         \$2,000.00         \$3,500.00         \$3,500.00           68         25' SIGNAL MAST ARM         1         \$4,375.00         EA         \$4,375.00         \$4,520.00         \$4,520.00         \$4,500.00           69         30' SIGNAL MAST ARM         4         \$4,375.00         EA         \$17,500.00         \$4,428.00         \$17,712.00         \$4,450.00         \$17,800.00           70         35' SIGNAL MAST ARM         5         \$5,625.00         EA         \$28,125.00         \$5,955.00         \$29,775.00         \$6,000.00         \$30,000.00           71         40' SIGNAL MAST ARM         6         \$6,875.00         EA         \$41,250.00         \$6,161.00         \$36,966.00         \$6,250.00         \$37,500.00	65		1	\$2,500.00	EA	\$2,500.00	\$3,500.00	\$3,500.00	\$4,500.00	\$4,500.00				
68 25' SIGNAL MAST ARM 1 \$4,375.00 EA \$4,375.00 \$4,520.00 \$4,520.00 \$4,500.0	66		10	\$4,000.00	EA	\$40,000.00	\$3,000.00	\$30,000.00	\$3,500.00	\$35,000.00				
68       25' SIGNAL MAST ARM       1       \$4,375.00       EA       \$4,375.00       \$4,520.00       \$4,520.00       \$4,500.00       \$4,500.00         69       30' SIGNAL MAST ARM       4       \$4,375.00       EA       \$17,500.00       \$4,428.00       \$17,712.00       \$4,450.00       \$17,800.00         70       35' SIGNAL MAST ARM       5       \$5,625.00       EA       \$28,125.00       \$5,955.00       \$29,775.00       \$6,000.00       \$30,000.00         71       40' SIGNAL MAST ARM       6       \$6,875.00       EA       \$41,250.00       \$6,161.00       \$36,966.00       \$6,250.00       \$37,500.00	67		1	\$3,000.00	EA	\$3,000.00	\$2,000.00	\$2,000.00	\$3,500.00					
70     35' SIGNAL MAST ARM     5     \$5,625.00     EA     \$28,125.00     \$5,955.00     \$29,775.00     \$6,000.00     \$30,000.00       71     40' SIGNAL MAST ARM     6     \$6,875.00     EA     \$41,250.00     \$6,161.00     \$36,966.00     \$6,250.00     \$37,500.00	68		1	\$4,375.00	EA	\$4,375.00	\$4,520.00	\$4,520.00	\$4,500.00					
70       35' SIGNAL MAST ARM       5       \$5,625.00       EA       \$28,125.00       \$5,955.00       \$29,775.00       \$6,000.00       \$30,000.00         71       40' SIGNAL MAST ARM       6       \$6,875.00       EA       \$41,250.00       \$6,161.00       \$36,966.00       \$6,250.00       \$37,500.00	69	30' SIGNAL MAST ARM	4	\$4,375.00	EA	\$17,500.00	\$4,428.00							
			5	\$5,625.00	EA	\$28,125.00	\$5,955.00	\$29,775.00	\$6,000.00	\$30,000.00				
72 45' SIGNAL MAST ARM 3 \$7,500.00 EA \$22,500.00 \$6,815.00 \$20,445.00 \$7,200.00 \$21,600.00	71	40' SIGNAL MAST ARM	6		EA									
	72	45' SIGNAL MAST ARM	3	\$7,500.00	EA	\$22,500.00	\$6,815.00	\$20,445.00	\$7,200.00	\$21,600.00				

Project ID: TSM0010258
Bids Opened: 8/26/2025

Bids Opened: 8/26/2025 Project Manager: Bashar Tohmeh 714-412-0088

ı ı oju	ot manager. Bashar rommen 714 412	0000									Daration.	200 Day(3)	
				Engine	eer's Estimate(	1) Elecnor Belco	Electric, Inc.	` '	Professional jineering, Inc.				
(1) Pro	eliminary Bid Amount					\$	2,667,104.00	\$	2,709,086.35				
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
73	12' LUMINAIRE MAST ARM	17	\$1,375.00	EA	\$23,375.00	\$1,208.00	\$20,536.00	\$950.00	\$16,150.00				
74	15' LUMINAIRE MAST ARM	2	\$1,875.00	EA	\$3,750.00	\$1,260.00	\$2,520.00	\$1,050.00	\$2,100.00				
75	8' STRAIGHT MAST ARM	2	\$1,000.00	EA	\$2,000.00	\$845.00	\$1,690.00	\$660.00	\$1,320.00				
76	6' LUMINAIRE MAST ARM	1	\$1,000.00	EA	\$1,000.00	\$848.00	\$848.00	\$660.00	\$660.00				
77	150 W HPS LUMINAIRE	3	\$625.00	EA	\$1,875.00	\$850.00	\$2,550.00	\$540.00	\$1,620.00				
78	400 W HPS LUMINAIRE	2	\$875.00	EA	\$1,750.00	\$1,003.00	\$2,006.00	\$690.00	\$1,380.00				
79	200 W EQ LED LUMINARIE	13	\$750.00	EA	\$9,750.00	\$865.00	\$11,245.00	\$550.00	\$7,150.00				
80	250 W EQ LED LUMINARIE	4	\$813.00	EA	\$3,252.00	\$882.00	\$3,528.00	\$570.00	\$2,280.00				
81	PEDESTRIAN PUSH BUTTON	28	\$400.00	EA	\$11,200.00	\$396.00	\$11,088.00	\$300.00	\$8,400.00				
82	PEDESTRIAN PUSH BUTTON PLATE	28	\$157.00	EA	\$4,396.00	\$37.00	\$1,036.00	\$45.00	\$1,260.00				
83	PEDESTRIAN PUSH BUTTON POST	4	\$1,063.00	EA	\$4,252.00	\$1,465.00	\$5,860.00	\$1,050.00	\$4,200.00				
84	TYPE 1A STANDARD (CALTRANS, 2024)	5	\$2,300.00	EA	\$11,500.00	\$1,816.00	\$9,080.00	\$2,000.00	\$10,000.00				
85	TYPE 15TS STANDARD (CALTRANS, 2024)	7	\$5,000.00	EA	\$35,000.00	\$6,391.00	\$44,737.00	\$5,500.00	\$38,500.00				
86	TYPE 18 STANDARD (CALTRANS, 2024)	2	\$11,250.00	EA	\$22,500.00	\$13,713.00	\$27,426.00	\$12,000.00	\$24,000.00				
87	TYPE 19 STANDARD (CALTRANS, 2024)	2	\$11,250.00	EA	\$22,500.00	\$16,891.00	\$33,782.00	\$15,700.00	\$31,400.00				
88	TYPE 19 STANDARD (LADOT)	1	\$11,250.00	EA	\$11,250.00	\$16,936.00	\$16,936.00	\$15,700.00	\$15,700.00				
89	TYPE 24 STANDARD (LADOT)	4	\$15,000.00	EA	\$60,000.00	\$18,588.00	\$74,352.00	\$18,000.00	\$72,000.00				
90	TYPE 24 STANDARD (CALTRANS, 2024)	1	\$15,000.00	EA	\$15,000.00	\$18,654.00	\$18,654.00	\$18,100.00	\$18,100.00				
91	TYPE 26 STANDARD (CALTRANS, 2024)	1	\$18,000.00	EA	\$18,000.00	\$21,585.00	\$21,585.00	\$21,000.00	\$21,000.00				
92	TYPE 26 STANDARD (LADOT)	3	\$18,000.00	EA	\$54,000.00	\$21,526.00	\$64,578.00	\$21,000.00	\$63,000.00				
93	TYPE 27 STANDARD (CALTRANS, 2024)	1	\$18,000.00	EA	\$18,000.00	\$17,150.00	\$17,150.00	\$17,000.00	\$17,000.00				
94	TYPE 28 STANDARD (LADOT)	1	\$18,750.00	EA	\$18,750.00	\$21,660.00	\$21,660.00	\$21,500.00	\$21,500.00				
95	TYPE 29 STANDARD (LADOT)	1	\$18,750.00	EA	\$18,750.00	\$27,444.00	\$27,444.00	\$28,000.00	\$28,000.00				
96	PEDESTRIAN PUSH BUTTON POST FOUNDATION	5	\$875.00	EA	\$4,375.00	\$1,500.00	\$7,500.00	\$900.00	\$4,500.00				

Project ID: TSM0010258

Bids Opened: 8/26/2025

Bids Opened: 8/26/2025 Project Manager: Bashar Tohmeh 714-412-0088

Engineer's Estimate (1) Elecnor Belco Electric, Inc.	(2) California Professional Engineering, Inc.
\$2 667 104 00	\$2 709 086 35

(1) Pre	eliminary Bid Amount					\$	2,667,104.00		52,709,086.35				
` '	it Price Detail					Ψ	2,001,101.00	•	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
Item	Description	Qty	Unit Price	Unit	Amount	Unit Price	<u>Amount</u>	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
97	TYPE 1A STANDARD FOUNDATION (CALTRANS, 2024)	5	\$1,875.00	EA	\$9,375.00	\$2,264.00	\$11,320.00	\$3,500.00	\$17,500.00	<u>Office Floor</u>	Zanodni	<u> </u>	<u>/mount</u>
98	TYPÉ 15TS STANDARD FOUNDATION	1	\$4,375.00	EA	\$4,375.00	\$3,128.00	\$3,128.00	\$4,200.00	\$4,200.00				
99	TYPE 15TS STANDARD FOUNDATION (CALTRANS, 2024)	7	\$4,375.00	EA	\$30,625.00	\$3,128.00	\$21,896.00	\$4,200.00	\$29,400.00				
100	TYPE 18 STANDARD FOUNDATION (CALTRANS, 2024)	2	\$5,000.00	EA	\$10,000.00	\$5,582.00	\$11,164.00	\$4,500.00	\$9,000.00				
101	TYPE 19 STANDARD FOUNDATION (CALTRANS, 2024)	2	\$5,000.00	EA	\$10,000.00	\$5,847.00	\$11,694.00	\$4,600.00	\$9,200.00				
102	TYPE 19 STANDARD FOUNDATION (LADOT)	1	\$5,000.00	EA	\$5,000.00	\$5,847.00	\$5,847.00	\$4,600.00	\$4,600.00				
103	TYPE 24 STANDARD FOUNDATION (LADOT)	4	\$5,000.00	EA	\$20,000.00	\$5,980.00	\$23,920.00	\$5,000.00	\$20,000.00				
104	TYPE 24 STANDARD FOUNDATION (CALTRANS, 2024)	1	\$5,000.00	EA	\$5,000.00	\$5,980.00	\$5,980.00	\$5,000.00	\$5,000.00				
105	TYPE 26 STANDARD FOUNDATION (CALTRANS, 2024)	1	\$6,250.00	EA	\$6,250.00	\$6,672.00	\$6,672.00	\$5,500.00	\$5,500.00				
106	TYPE 26 STANDARD FOUNDATION (LADOT)	3	\$6,250.00	EA	\$18,750.00	\$6,672.00	\$20,016.00	\$5,500.00	\$16,500.00				
107	TYPE 27 STANDARD FOUNDATION (CALTRANS, 2024)	1	\$6,250.00	EA	\$6,250.00	\$6,672.00	\$6,672.00	\$5,800.00	\$5,800.00				
108	TYPE 28 STANDARD FOUNDATION (LADOT)	1	\$6,250.00	EA	\$6,250.00	\$6,946.00	\$6,946.00	\$6,000.00	\$6,000.00				
109	TYPE 29 STANDARD FOUNDATION (LADOT)	1	\$6,250.00	EA	\$6,250.00	\$6,946.00	\$6,946.00	\$6,200.00	\$6,200.00				

Project ID: TSM0010258

Bids Opened: 8/26/2025 Project Manager: Bashar Tohmeh 714-412-0088

e manager. Bashar rommen 714 41										Darationi	200 Day(3)	
			Engine	eer's Estimate(	(1) Elecnor Belco	Electric, Inc.	` '					
liminary Bid Amount					\$	2,667,104.00		\$2,709,086.35				
t Price Detail												
<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<b>Unit Price</b>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
ACCESSIBLE PED SIGNAL (APS) CONTROLLER UNIT	4	\$6,400.00	EA	\$25,600.00	\$4,186.00	\$16,744.00	\$4,500.00	\$18,000.00				
ACCESSIBLE PEDESTRIAN SIGNAL (APS) PUSH BUTTON COMPLETE	30	\$1,800.00	EA	\$54,000.00	\$1,818.00	\$54,540.00	\$1,420.00	\$42,600.00				
COLD WELD PPB HOLE TO SMOOTH FINISH	1	\$1,100.00	EA	\$1,100.00	\$275.00	\$275.00	\$500.00	\$500.00				
LED COUNTDOWN PEDESTRIAN HEAD (COMPLETE)	70	\$1,300.00	EA	\$91,000.00	\$1,580.00	\$110,600.00	\$1,600.00	\$112,000.00				
INTERNALLY ILLUMINATED STREET NAME SIGN	5	\$3,000.00	EA	\$15,000.00	\$3,284.00	\$16,420.00	\$3,200.00	\$16,000.00				
RETROREFLECTIVE STREET NAME SIGN	12	\$1,575.00	EA	\$18,900.00	\$1,333.00	\$15,996.00	\$1,800.00	\$21,600.00				
3-12" LED VEHICLE HEAD (COMPLETE)	110	\$1,500.00	EA	\$165,000.00	\$2,050.00	\$225,500.00	\$2,150.00	\$236,500.00				
5-12" LED VÉHICLE HEAD (COMPLETE)	9	\$2,000.00	EA	\$18,000.00	\$3,155.00	\$28,395.00	\$2,750.00	\$24,750.00				
12" STRIPING (THERMOPLASTIC)	1615	\$6.00	LF	\$9,690.00	\$5.00	\$8,075.00	\$4.35	\$7,025.25				
PAINT CURB (RED)	355	\$7.50	LF	\$2,662.50	\$3.00	\$1,065.00	\$2.32	\$823.60				
6" YELLOW STRIPING (THERMOPLASTIC)	5					\$23.00		·				
REMOVE CONFLICTING STRIPING	4535	\$7.50	LF	\$34,012.50	\$4.00	\$18,140.00	\$3.48	\$15,781.80				
SIGN PANEL	35	\$282.00	EA	\$9,870.00	\$188.00	\$6,580.00	\$190.00	\$6,650.00				
RELOCATE SIGN	20	\$250.00	EA	\$5,000.00	\$109.00		\$110.00					
REMOVE BOLLARD	2	\$250.00	EA	\$500.00	\$838.00	\$1,676.00	\$700.00					
SIGN POST (ROADSIDE SIGN)	10	\$344.00	EA	\$3,440.00	\$23.00	*						
	38										·	
	16	\$1,000.00									·	
REMOVE PULL BOX	1	\$375.00	EA	\$375.00		· ·	· · · · · · · · · · · · · · · · · · ·					
1-1/2" CONDUIT (SCH 80 PVC)	35	\$60.00	LF	\$2,100.00	\$78.00	\$2,730.00	\$100.00	\$3,500.00				
	ACCESSIBLE PED SIGNAL (APS) CONTROLLER UNIT ACCESSIBLE PEDESTRIAN SIGNAL (APS) PUSH BUTTON COMPLETE COLD WELD PPB HOLE TO SMOOTH FINISH LED COUNTDOWN PEDESTRIAN HEAD (COMPLETE) INTERNALLY ILLUMINATED STREET NAME SIGN RETROREFLECTIVE STREET NAME SIGN 3-12" LED VEHICLE HEAD (COMPLETE) 5-12" LED VEHICLE HEAD (COMPLETE) 12" STRIPING (THERMOPLASTIC) PAINT CURB (RED) 6" YELLOW STRIPING (THERMOPLASTIC) REMOVE CONFLICTING STRIPING SIGN PANEL RELOCATE SIGN REMOVE BOLLARD SIGN POST (ROADSIDE SIGN) NO. 6 PULL BOX NO. 5 PULL BOX	t Price Detail  Description  ACCESSIBLE PED SIGNAL  (APS) CONTROLLER UNIT  ACCESSIBLE PEDESTRIAN  SIGNAL (APS) PUSH BUTTON  COMPLETE  COLD WELD PPB HOLE TO  SMOOTH FINISH  LED COUNTDOWN  PEDESTRIAN HEAD  (COMPLETE)  INTERNALLY ILLUMINATED  STREET NAME SIGN  RETROREFLECTIVE STREET  NAME SIGN  3-12" LED VEHICLE HEAD  (COMPLETE)  12" STRIPING  (THERMOPLASTIC)  PAINT CURB (RED)  6" YELLOW STRIPING  (THERMOPLASTIC)  REMOVE CONFLICTING  SIGN PANEL  35  RELOCATE SIGN  REMOVE BOLLARD  2  SIGN POST (ROADSIDE SIGN)  NO. 6 PULL BOX  NO. 5 PULL BOX  16  REMOVE PULL BOX  16  REMOVE PULL BOX  16  REMOVE PULL BOX  10  10  10  10  11  12 STRIPING  15  16  17  18  18  18  18  18  18  18  18  18	T Price Detail    Description	Iliminary Bid Amount   Price Detail   Description   Qty   Unit Price   Unit	Iliminary Bid Amount	Iliminary Bid Amount	Price Detail   Description	Engliminary Bid Amount	Engineering, Inc.	Illiniary Bid Amount   S2,667,104.00   \$2,709,086.35	Engineering, Inc.   Iminiary Bid Amount   S2,667,104.00   \$2,709,086.35	Engineering, Inc.   Engi

Project ID: TSM0010258

Bids Opened: 8/26/2025

Bids Opened: 8/26/2025 Project Manager: Bashar Tohmeh 714-412-0088

			Engir	neer's Estimate(	1) Elecnor Belco	Electric, Inc.		a Professional gineering, Inc.					
(1) Pre	liminary Bid Amount					\$	2,667,104.00		\$2,709,086.35				
(2) Uni	t Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
130	12-CONDUCTOR SIGNAL CABLE(EXCLUDING CONDUIT)	11250	\$6.00	LF	\$67,500.00	\$7.40	\$83,250.00	\$6.70	\$75,375.00				
131	3-CONDUCTOR SIGNAL CABLE (EXCLUDING CONDUIT)	10105	\$4.00	LF	\$40,420.00	\$4.00	\$40,420.00	\$2.20	\$22,231.00				
132	5-CONDUCTOR SIGNAL CABLE (EXCLUDING CONDUIT)	3035	\$5.50	LF	\$16,692.50	\$4.80	\$14,568.00	\$3.10	\$9,408.50				
133	NO. 6 WIRE	515	\$2.00	LF	\$1,030.00	\$4.00	\$2,060.00	\$4.00	\$2,060.00				
134	NO. 8 WIRE	8560	\$2.00	LF	\$17,120.00	\$3.00	\$25,680.00	\$2.22	\$19,003.20				
135	NO. 10 WIRE	4350	\$2.00	LF	\$8,700.00	\$2.10	\$9,135.00	\$1.80	\$7,830.00				
136	NO. 12 WIRE	445	\$1.50	LF	\$667.50	\$2.00	\$890.00	\$1.50	\$667.50				
137	RELOCATE PEDESTRIAN	1	\$300.00	EΑ	\$300.00	\$800.00	\$800.00	\$1,200.00	\$1,200.00				
	PUSH BUTTON POST												
138	DETAIL 22 (THERMOPLASTIC)	5	\$5.00	LF	\$25.00	\$4.60	\$23.00	\$4.65	\$23.25				
139	DETAIL 25 (THERMOPLASTIC)	10	\$5.00	LF	\$50.00	\$3.00	\$30.00	\$2.32	\$23.20				
140	DETAIL 29 (THERMOPLASTIC)	20	\$8.00	LF	\$160.00	\$4.60	\$92.00	\$4.65	\$93.00				
141	PAVEMENT MARKINGS (THERMOPLASTIC)	165	\$14.00	SF	\$2,310.00	\$14.00	\$2,310.00	\$13.92	\$2,296.80				
142	24" STRIPING (THERMOPLASTIC)	5020	\$12.00	LF	\$60,240.00	\$8.00	\$40,160.00	\$8.10	\$40,662.00				
143	REMOVE PAVEMENT MARKINGS (PAINT)	165	\$10.00	SF	\$1,650.00	\$12.00	\$1,980.00	\$11.50	\$1,897.50				
144	TRAFFIC CONTROL	1	\$85,000.00	LS	\$85,000.00	\$41,000.00	\$41,000.00	\$81,800.00	\$81,800.00				
Unit Pr	ice Total			\$2,635,073.75	\$	2,667,104.00		\$2,709,086.35					
(3) LSI	BE/DVBE/SE Preference Amount		\$0.00					\$0.00					
` '	BE/DVBE/SE Adjusted Amount			\$2,667,104.00					\$2,709,086.35				
Comm	-				APPARENT L			. , ,					